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ECONOMICS

( Honours )

Paper : ECO-HC-3026

( Intermediate Macroeconomics—I ) /

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1.
Answer any ten from the following as

directed : 1x10=10
woTe frarcad o i @ RO T O
e
(a) What is aggregate demand?
i wifzn 2

(b) Express effective demand in a four-
sector system.

SR Ry ~rfes s s e T !
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(2)

(c) What is open economy?

& HYAS & 9
(d) Mundell-Fleming model assumes that
capital is
TGRS e e =g =
(i) perfectly mobjle
TR S Ry
(i) Perfectly Immobile
AR ey e
() imperfecty mobile
SRR Sera o
(Choose the correct opﬁoﬂl

(o= Riescsy qif2 o)
(e) What is the

shape of long-run Phillips
Clrvep
R caer RS e 2

9 ks Cgate SUPPly function at full
“Mployment is
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(3)

(i) less elastic
<9 feforee
(iti) p(;:rfectly inelastic
jace SEfeRee
(Choose the correct option)

(wm fsco! aifg Sferean)

{g) Who developed the purchasing power
parity theory?

T HIOR O] OGhl (F TS e 2
(h) Define asset market.

S TEE9 A e |

(i) What is Capital Account in Balance of
Payment (BoP)?

e Ao e Bore % 2
() At the point of effective demand
ey vifeer g
(i) aggregate demand = aggregate
supply

SHET BIfEa = HEF @

(i) aggregate demand > aggregate
supply
SRS wifRw > STHES Qe
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(4)

(i) aggregate demand < aggregate
supply

ST ST < STfae oy
(iv) Both (i) and (i1
(i) == (iti) Ty
(Choose the correct option)

(W% femehr aif Sfyean)

(k) Supply inflation is caused by

IBICH ?[EF‘?I]%?! PRI T’H
(i) wage push
TR @
(ti) mark-up pricing
TE-S19f oy
(i) profit push
LIS Reu
(iv) All of the above
ST i
(Choose the correct Option)
(o= Ry a1f ofered)
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(m)

(n)

(o)

12
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(5)

The natural rate of hypothesis involves

ofoe 29T S &S T
(i adaptive expectation

wfScaiere e
(ii) rational expectation

@fEs e
(iii) Both (i) and (i)

(i) == (i) TS

(Choose the correct option)

(v Fsco! AR Sferea)

Write one measure to control cost-push
inflation.

WW%‘TW&@%WW]

Mention the I-S components of
Mundell—Fleming model.

-{Cw-@ﬁ: wif¥E SeEn-REER  SAMHER
TrEd 941 |
Define  arbitrage in international

payment.
e WS SHGE TR Gzl

What is international financial market?

e Rém 3aR 2
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(6)

(@) Write one criticism of effective demand.

T TRAT <G1 FICaO for4 |

(r) The concept of foreign trade multiplier
was developed by

AP ST @RS HRTCHT S wfifee
() R. F. Khan

. 9%, e
(@) J. M. Keynes

@, 99, ([FR
(i) Samuelson

(R CeT=A

(Choose the correct option)

(o= Remcor a1fR Sferear)

2. Answer any five from the following : 2x5=1
O TR /1 R e ofobm T foxy -

(@) What is Eurocurrency market?

T 9] T51] 3 2

(b) Define natural rate of unemployment.

e e 21 sremer foy |
() What is meant by mark-up inflation?
SN TERR s e o
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(7)

(d) Write the reasons for inverse
relationship between inflation and
unemployment.

Wwﬁaﬁﬁwﬁﬁ%—wﬁm
T for |

(e) Mention two assumptions of Mundell-
Fleming model.

Tree -G fE o1 WS Soay o9 |

() Define effective demand.

ey wifEma F1ge |

(g9 What are the determinants of
equilibrium rate of interest?

ST A 2R e 2

(h) In what way expectation influences the
rate of exchange?

ororp2 6 4aeet T 2R el 0T 2

() Mention two limitations of adaptive
expectation.

Sfecafes o 1ol SEme! Seay 9 |

¢g) What is foreign trade multiplier?

e qfderd @R 2
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3. Answer any four from the following :  5x4=20

Wﬁm@mwﬁmvﬁ%ﬁ%@ﬁm:

(a) Explain briefly the monetary approach
to Balance of Payments (BoP).

(TP TSN (BoP) @ wiEwsdn Ry
TICS A 40

(b) Write a note on Dornbusch’s
overshooting model.

ST WORRRR WHGR e B
o1 1

(c) Distinguish between spot an
exchange rate.

%wmﬁﬁmwmmw
@& |

d forward

(d) Briefly explain the

Components of
international financia]

market,

(e) How does natura]
explain the
relationship?

Tate  hypothesis
unempioyrnent—inﬂation
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(9)

() What are the prerequisites of Keynesian
theory? "

@ o eTR [ 6

| (g) What is aggregate supply? How does
' aggregate supply curve determine in
Keynesian economics?

s e 2 @9 gdNfee AHES
st @2 e fdfiee s =2

(h) Explain the concept of demand-pull

inflation.

ﬂﬁﬁrqﬁﬂﬁﬁﬁizﬁﬁﬁ?#mﬁmﬁh?W%Tﬁm1

10x4=40

Answer any four from the following :

nﬁmsﬁhmﬁﬁﬁ-Wﬂfﬁcamﬁnﬁﬁﬁmafﬁéaﬁhn:

(a) What is rate of exchange? Explain the
determination of equilibrium rate of
2+8=10

exchange.

0 s R 29 g fda
W'@,WWI

4.

critically the rational

jon h_ypothesis.
E@ﬁﬂﬁﬂ SFICEDAl RIS

{b) Explain
expectat

afes  dorTe

g 41|
( Turn Over )
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(10

(c) Explain the asset market approach to
determine exchange rate.

ffF 2@ Fidie sfRata srm qamg gfEsm
001 40 |

(d) Establish the relationship between
foreign trade multiplier and marginal
propensity to import.

QEE AR B W o s
RO TS ST Flof 4 |

(e) Discuss the Mundell-F‘leming model in

terms of monetary fiscal mix policies
under fixed exchange rate with perfect
capital mobility.

T S TR e fig R z<e
-GSt N 1 Torzsfire e D
T A -

() Discuss the determination of
equilibrium  level of

through effective demang.

e vifwe wRace sremg
e =91 =, e %y |

employment
e v e

(g9 Examine the police effe
Phillips curve.

Wﬁ@%%%%%wl
A23/179
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(h)

J
|
o

A23—4500/179

y

(11)

Explain the purchasing power parity
theory of exchange rate.

Ry 293 T FIOR TS ©ECO! 1RTT I]47 |

Explain the determinants of aggregate

demand.

S BIfEnR FERRETER 0 4

Explain the factors that cause
fluctuation in the exchange rates.

Rty z9e ST AR F SRR WM
A1 |
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